Al 2 0 &
FESE S

Ab e E A A

20144 E 2018 sSXIFELA S
SA BH
M s3I 2d 2 2 (SSAATLEALSER)
el STE EH U 2Y(STXPESAISHSIH) (B2l &)
~ _ Sis
S - B - O9(3) - HIRAY - BaS ey i HI DS
S Ml 256,232 158,075 98, 157
= 100,000
Ea 156,232
S3HA £ & 2 (SSNPZEALSESIA) 256,232 158,075 98,157
= 100,000
Ea 156,232
S3HA =4 & 2 (SSANATEAIESERIA) 256,232 168,075 98,157
= 100,000
o 156,232
s3HAl 2dac 256,232 158,075 98,157
= 100,000
o 156,232
101 2124H| 5,808 5,876 68
04 J1ZtHI22NESE+ 5,808 5,876 68
O s3HA &= & EAMMA 2R
44,0002 = 669 * 23 5,808
201 er2g| 15,780 17,555 A1,775
01 Aty 4,912 7,112 22,200
O STEUX ALFT SAl|
7,000 * 3& = 63 * 123 1,512
O s3HX gALst|
15,0008 * 20 ¢ * 20424 600
O s3HX JI2s 2=l
50,000 = 2801 * 23| 2,800
02 SE5=gH| 10,868 10,443 425
O =32 33012 AII3(LEE)
5,270 * 105kw * 122 6,641
O =32 33012 AIIL3(IIZE)
5,970& = S0kw = 123 4,227
202 04 4,320 4,320 0
01 =LHOHI 4,320 4,320 0
O saHAl 2g2c & M=l 25
&l 04| 20,0008 » 3 * 63| » 122 4,320
401 AIZHIZ S0 230,324 130,324 100,000
= 100,000
[Ea 130,324
01 Al&€HI 228,560 130,000 98,560
O s3HAl ==I[EAIE 2 SAHI
30,000,000& * 1oH2 30,000
O s3HA HIA 198,560,000 » 14 198,560
= 100,000
o 98,560
03 Al =THYI 1,764 324 1,440
O sSHA =2IIEAIE BSA AIER01L
30,000,000 = 1.08% 324




2N AM
BE: SDCOX X4 U 2Y(SBNRELMLSEE)
S S2HX X4 2 2H(SZARELEAILS LS| H)
% - e
SN - HB - O (3]H) - MISAY - BAS Ofl b dT

Ofl &h2H

O s3YXl ZHIAIY AlIZ20iH
200,000,000& * 0.72% 1,440




